
22



23

PARTS LIST									        November 26, 2014, Rev H

SWB8RBDE Waffle Baker

   

 IMPORTANT: WHEN ORDERING, SPECIFY VOLTAGE OR TYPE GAS DESIRED	 	           	             PAGE
	           INCLUDE MODEL AND SERIAL NUMBER				             		                  OF

Some items are included for illustrative purposes only and in certain instances may not be available.

Number
Per
Unit Description

MODEL

Part
 Number

Key  
Number

	 1	 2I-Z0057	 4	 FOOT RUBBER	
	 2	 2E-Z3385	 1	 LEAD IN CORD 	 120V 15A  
		  B9-73028	 1	 LEAD IN CORD 	 240V 
		  B9-73029	 1	 LEAD IN CORD 	 230V CE
	 3	 B9-Z1723	 1	 COVER-BOTTOM	
	 4	 2E-Z1858	 1	 SWITCH 20A/120V MOLVENO	
	 5	 2J-Z7497	 1	 TIMER-TEMPERATURE CONTROL	
	 6	 B9-73004	 1	 BODY ASSEMBLY	
	 7	 B9-Z1810	 1	 FRONT SUPPORT	
	 8	 2P-Z1735	 2	 PLUG CAP 3/4	
	 9	 2C-Z2670	 2	 NUT 1/4-20 W/LOCKWASHER	
	 10	 2C-08-07-0041	 2	 BOLT 3/8-24 x 1/2 HEX
	 11	 2C-08-07-0064	 2	 HEX ACORN NUT 3/8-24	
	 12	 B9-Z1790	 2	 CUP 	
	 13	 B9-Z3731	 1	 CUP SUPPORT	
	 14	 2A-Z2644	 2	 SPACER 3/8X0.035	
	 15	 B9-Z8771	 2	 PLATE	
	 16	 2N-Z2010	 2	 ELEMENT  660W 	 120V    
		  2N-Z2011	 2	 ELEMENT 660W 	 240V 
	 17	 2C-Z1674	 2	 STUD 1/4-20 X 2 1/4	
	 18	 B9-Z3734	 2	 GRID 8" DIAMETER MACHINED	
	 19	 2F-Z9333 	 1	 LOCK HANDLE	
	 20	 2R-09-WB-0027	 1	 HANDLE-BLACK 3/8-16	
	 21	 2A-Z6635	 1	 SHORT HANDLE RED PLATED	
	 22	 2A-70-WB-0132	 2	 LOCK PIN	
	 23	 2C-08-07-0040	 2	 ACORN NUT 1/4-20	
	 24	 2C-08-07-0037	 1	 SCREW 6-32 x 3/8	
	 25	 2C-08-07-0054	 1	 NUT 3/8-16 HEX	
	 26	 2E-Z1837	 1	 RTD PROBE 2000 OM	
	 27	 B9-73010	 1	 TOP HINGE ASSEMBLY	
	 28	 B9-Z1764	 1	 LOWER HINGE MACHINED	
	 29	 2A-Z2643	 2	 SPACER  1/4X0.028	
	 30	 B9-Z1724	 1	 COVER-BACK
		  B9-Z2985	 1	 COVER-BACK  230CE	
	 31	 2E-05-07-0351	 1	 TRANSFORMER 115/10V 6VA  	 120V
		  2E-05-07-0350	 1	 TRANSFORMER 230V/10V 6VA  	 240V
		  2E-Z2974	 1	 TRANSFORMER 230V/10V  	 230V CE
	 32	 2E-Z5375	 1	 TERMINAL BLOCK, 3-POLE	
	 33	 B9-Z1859	 1	 PLATE-COVER-HINGE	
	 34	 2F-Z1835	 1	 SPACER
	 36	 2E-Z2145	 2	 FUSEHOLDER  	 230V CE
	 37	 2E-Z2146	 2	 FUSE CARRIER  	 230V CE
	 38	 2E-Z2147	 2	 FUSE 8A 250V  	 230V CE

		  NOT ILLUSTRATED
	 --	 B9-Z1760	 1	 DRIP TRAY
	 --	 2M-Z1753	 1	 CONTROL PANEL OVERLAY	

														              1
														              1	
													           

     Star International Holdings, Inc. Company


